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Please make sure that the printed pages in this question paper are 16 in number
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The Code No. on the top of the question paper should be written by the candidale
on the front page of the answer-book.

o FYI FIT F TG YT T 7 6, 9T F FAF 7 [

Before beginning to answer a question, its Serial Number must be written.
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Don't leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer. '
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Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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General Instructions :
() All questions are compulsory.

(i This question paper consists of 13 questions which are divided into four
Sections : ‘A", 'B’, 'C' and 'D':

Section 'A’ : Question No. 1 of this Section has forty (1-40) Objective Type
questions. Each question carries 1 mark.

Section 'B' : This Section contain six questions from Question Nos. 21017

Each question carries 2 marks.

Section 'C' : This Section contain four questions from Question Nos. 810

11. Each question carries 4 marks.

Section D' : This Section contain only twe questions, Question Nos. 12

13. Each question carries 6 marks.

fm) p _ . o
t both the questions of Section 'D' intemal choices are given. You hat"

attempt only :
2031 Yy one alternative.
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SECTION - A

qUs - A
Frefafa aegiTe Fe9 & Fa7 & -

Answer the following objective type questions :

1. (1) A={x:x%{"ﬂ$ﬁw%ﬁﬁ—%5xsé},ﬂﬂﬁm,q ........... TE B 1
(e, 3, TH)
A={x:xisan integer——;- <x< %}, set A IS ..oveeennn. set.
(Null, InfAite, Singleton)
() AR wgeEd A ¥ 4 omEg ¥ @ g T W A IEd e 1
(4, 8, 12, 16)
If set A contains 4 elements, then its power sct has ......cc..... elements.
(4, 8, 12, 16)
(3) sin2 X 4 cos? X —tan® S B A covveiniennn 2l 11y _1\‘ !
6 3 4 2? :2! 1 J
The value of sin® g +cos? g ~tan? L is equal to ............... ,
[-E,l, ], -1
S22 J
{4] qﬁA:{a,b,C,d,&}m5={a,e’f,o'u}’aﬂwAﬁB___ ........... . 1

IfA=1{a b, c d, e} and B = la, e, i, o, u}, then the set A » B is cqual
to .. .

2031
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o g 51 T A2 S O g g Bdls, 14

L ﬂﬂr

1 8 has 21 clements, T has 3
[ set S has . 9, 1as 32 cleme w X m
Nts and 8, T has 42 clementy

f
then S T has . L. clements.

aft A= (1,2 34,5 14} T Hady RAAD AW ofewfag B o
R=16 9 y=3% x, yc A, g6y R & wg (Range) ¥ 'l :
)8 f |
t A= . O ' '
Le 11,2,3,4,5 ... » 141, A relation R is defined from A to A where

R={x, y:y=3x x Y € Al. Then range of relation R is {ovenian e, 4.

100 ¢m Hﬂnmﬁqﬁ%%awzz frmmmmmmﬂﬁwm%ﬁ
HIY Fam :
e (n = 22 s H?)
Find the degree !
¢ degree measure of angle subtended at the centre of a circle of

radius 100 cm by an arc of length 22 cm, (Use n= 22]
7

afy tanxz—i- Gﬁ?x@'ﬁ%ﬂ@ﬂ’fﬂﬁ%ﬁﬁsinxﬂﬂqﬁ%:

4 4
3 3
© - ®) 3

4 4

(A) = (B) 5
3 2
(C) 3 (D) 5
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(9) qﬁtanx-al,ﬁ’fsinhiﬁrmﬂ%:

3 4
A) - B =
L= B 3
J3
(C) Y (D) 1
If tanx = % then the value of sin 2xis :
4 4
— B -
(A) z (B) 3
3
(C) % (D} 1
n 5 sin3x+sinx . |
I H A ©
(10 = x 8’ U cOS 3X +COS X
(A) o (B) 1
(C) 0 (D) T & Fg T
Il x rE, then ~— X+ sin X is equal to :
8 cos 3x +COS X
(A) B) 1
(€ 0O (D) None of these

2031 PT.O
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(8)
{5 @ A ¥
”) fpn o B | ]
( Y 3 s B) 2+3
e % (D) T A B
( 3
The valut of tan 15° 1s
w 2-3 (B) 2+43
(C) 1-—}3= (D) None of these
n T . T . T
' Y ~-y|-sin|—-- L ylaame:
(12) cos(4 chos(4 y] sm(4 x]sm[4 y}
(A) cos (x+y) (B) cos (x-y)
(C) sin (x +Y) (D) sin (x -y

The value of cos(g - x]cos(-ﬁ- - y) - sin[:g- - x) sin(% - y) is

(A) cos (x +Yy) (B) cos (x-y)

(C) sin(x+y) (D} sin (x - y)
(13) TR (x - 2) + (y+ 1)i=3+4, W xAYyF AT .ooovvnn, A |

If (x -2)+ (y+ 1)i = 3 + 4i, then the value of x and y are ............. anc

..............

(14) AR 3x-7>5x-1, A x W AW P9 T & 8, a8 © :
(A) (o, 3) B) (=o, -3)
C) (-3, «) (D) (3, =)

2031
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f3x-7>5x-1, then the value of x lics in the interval .

(AJ (-, 3' (B) [—oo, .-.3)
(C) {"3! cD] (D) (3, °°)
(15) ©pP; - Py &AM B coeerenenees | ‘

The valuc of ®P3 -6 p, isequal O ..coovvimerec -

(16) ﬂﬁmﬁwwﬂnﬂ?wmﬂ%ﬁrmm‘w% ...........

If nth term of an A.P.is Sn+ 1, then its common difference i8 .5 covee .

(17)4m64%mgﬁmw% ............... !

The geometric mean between 4 and 64 18 ...xeeeee .
(18) AT TR (1+20)° F 9B T F

Find the modulus of the complex number (1 + 2:')2.

If "Cg = "Cg, then the value Of NS veegerinvsnes :

[20);%%%@3(&13.)%53?%10@110&@5%,%%15&?@
........... | 1

If 5th term of an A.P. is 10 and 10th term is 5, then its 15th term

18 o vess s
1) (+i) B R 1
(A) 4 B) 0

oy -4/ (D) & B T

2031 -
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(23)
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(8)
The value of (1 +i)? is equal 10 -
(A) 4 B) 0
€ -4 (D} Nonc of these

1 ¥ 9 a% % gEel & s @ 4 3@ & o qen g o Al B, Ae
N o 4 g TR, A aw b !
(A) 6561 (B) 3024

(C) 1000 (D) 49

The numbcr of 4 digit numbers using the digits ] to 9, when no digat s
being repcated is :

(A) 6561 B) 3024

(C) 1000 (D) 49

ﬂﬁa,baﬂ'{cj"ﬁﬂ'{'%((}.ﬁ]ﬂ%,Eﬁﬁﬁﬁ_ﬁiﬁ-’ﬂlﬂ?ﬂ-75‘7%?

(A) E =% (B) b® - ac
a
a b atc
C) —=- D) b= ——
(€) b ¢ ) 2

If @, b, care in G. P., then which of the following is not truc ?

MJ}E (B) b%-ac

a b a+c
C —_— = D b..‘.-.._._._._.
(C) Do (D} 5

(24) T @ & b et o7 dEd &, A Freifefen § A F9-80 g B

(A) A>G B) A<G
() A=G (D) ¥ A FH
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If a and b arc two different positive numbers, then which of the following

is true ?
(A) A>G B) A<G

C) A=G (D) Nonc of these

IR @ TG (+)ve -8 B WY 120° F AT T ¢, A A FW (slope) T
A 3 B -3

(C) 71—5 (D) -7]_5

If a straight line makes an angle 120° with positive direction of x-axis

then its slope is :

A) 3 B -3

© % o -7
(26]Wy2=#8xﬁmﬁr%ﬁ%sﬂ?5%: 1

(A) (2,0 (B) (0,2

(C) (-2,0) (D) (0, -2)

The coordinates of the focus of the parabola y2 =-8x is :

A) (2,0 (B) (0,2)

(C) (-2,0) (D) (0,-2)
(27)€ﬁx2+y2—4x+8y—5=0 3 &% @ Fow® © ,

(A) (4, -8) (B) (-4, 8)

© (-4 D) (-2,4)

The coordinates of the centre of the circle x? + y2 -4x+8y-5=0 arc:

A -9 B) (-4,8)

@ @ D) 2,9

P.T.O.
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Iz;;z:zs%é’lﬁewaﬁﬁrmg%; 1

ax” * 25Y
o 0 B) 10
Al ol
| ; (D) 6
© - S
e ength of major axis of the ellipse 9x? + 25y% =225 is:
gL
20) %5 (1 2) § T4 RN AR 3 FAW (slope) AR T F FHET oo 2

The equation of line passing through (1, 2) and slope 3 is ........... .

. X Y : .
The line 3 + 2 =1 meets y-axis at the point ................ .

(31)%(0,0)ﬁ3x+4y+15=0w3@®w#aﬁ1€% .......... 1

The length of perpendicular from (0, 0) to the 3x+4y+15=01is............. .

(33) Lim 30X q ¥ e o x e A R

x-0 X

where x is in radians.

. sin
Lim
x=»0 X

X is equal to .........
34) x® TR 3x% +5x +6 F AHA T B
Find derivative of 3,1«:2 +5x+6 wr. t.x.

2031 .
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2

(35) Lim f(x) Tef f(x)={_xx2‘_] ,:: X
(A) O (B) 2
© -1 (o) a7 P
(A) O (B) 2
Cc) -1 (D) Docs not exist

(36) Stanx+4cosxasrx%arﬁa{aqaww%:

(A) S sec? x + 4 sinx

(B) S sec?x - 4 sin x
(C) -5 sec?x-4sinx

(D) -5 sec®x + 4 sin x

The derivative of 5 tan x + 4 cos x W.I. t. xis
(A) S sec? x +4sinx

(B) S sec? x - 4 sin x

(C) -5 sec? x - 4 sin x

(D) -5 secZx + 4 sin x
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.

!.'_1”!". an dc‘fiat'ion of 5; 63 9: Il: 12, 3, 7, 11 about ML‘EII}
€

rhf o
""" am%eﬂﬁwﬁﬂiﬁammaﬁ%? 1

,@A

fﬂw HAmB]«_:P(A} B) PAnB<PAU B
() HA)sP(AﬂB) (D) AB <PAU B)

[ Aand Bare any two events, then which of the following is not truc ?

| (B) MAnB <PAU B
) PA)<PAANB)

(D) AB <PAu B
f3g)qﬁEGﬂ-{me%ﬁﬁ P(E)=-i—’ P{F]

; TRAE IR A~ g
RET A ® 99 §1G Y

1

If E and F are such that P(E)—— PF)=— and PE and F) =— then
| 8 |

find PE or F). =

(40;#&2Wmmﬁﬁrmmﬁraﬁq%m@ﬁmmﬁﬁmﬁw%:

1 1
(A) 5 (B) 2

(C)

B w

(D) 3™ & ¥ &

If 2 fair coins are tossed, then the P(at least onc hcad) is :

(A) (B)

M| —

1
4

(C)

B

(D} Nonc of these
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SECTION-B
Qus-g
301 ﬂﬂﬁm :
Cos4x+cos3x +cos2x _
sindx +sin3x +sin2x
Prove that :

cos4x +cos3x +cos2x _

sindx +sin3x +sin2x

sin{—llg-} F AW AT B

Find the value of sin[— 1 1%)

,Eﬁﬁi@iﬁﬁi x2+y2=11

afe x+iy=a+fb

a-ib

Ifx+iy=§-i—:§, prove that ;c2+y2 =1,

2031

cot3x

cot3x

100@%11000%&:%ﬁﬁmﬁaaﬁmﬂmﬂmﬁa‘mﬁwmmﬁ: 2

Find sum of all natural numbers between 100 and 1000 and divisible by S.

!

Yt y- V3x-5=03K J3y-x+6=0% 99 & AT 5 PR

Find the angles between the lines y - V3x-5=0and 3 y-x+6=0.

f

P.T.Q.
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cosX_ @ flx) A iR )
7. M fl = 4sinX
_cosX_ find f(x).
i f18 7 14 sin X
SECTION-C
gqe-q
8. & W : 4
(sin 3x + s:in X} sin x+ (cos 3x- cos x) cos x=0
Prove that : |
(sin 3x + sin x) sin x+ (cos 3x - cos x) cos x =0
2
9. zf y= 2x“ +3x+5 dy
Y="3c+4 @ il P .
2
If y-= 2x +3x+5, find g_y_'
3x+4 dx
10. il aifpst 1 w99 R (S.D.) & I : 4
X 6 10 14 18 22 26 30
f 2 4 7 12 8 4 3
Find Standard Deviation of the following data :
f
x 6 10 14 18 22 26 ‘30’,‘
o 2 4 7 12 8 4 3 |

2031
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g fard

WXIﬁq.Oﬂow
ﬁﬁ@@%lqﬁm3o%ﬁﬁﬂﬁﬁﬁqﬁ§l l{]*}{,ﬁ'g]’[tﬁrrfﬂm.}ﬁ?' Al
gl TR Se i 5 ﬂm“ﬁ:amwﬁﬁmsﬂamﬁwﬂmf

10% grudents

In Class XI 0
40% students study Maths, 30% study Biology.
nd the

study both M .
babili aths and Biology. A student is selected at rando
probability that he will be studying Maths or Biology.

m, b

SECTION-D
G8-%

3aa!
6

39
P-}%%ﬁfﬁ?ﬂﬁﬁﬁﬂﬁeﬁ?mwlafﬁ

g frd IR @ (G-
a4 I (common ratio) AR & A il

d their-product is 1. Find the

m of first three terms of a G. P. is % an

ratio and the terms.

If su

commaon

S7Yar

OR

aﬁa,b,c,dgnﬂﬂaa(e.iv.}ﬁﬁ,ahaaﬁzaﬁs:

2 . p2+c {ab+bc+cd]2

(@ 2) (b2 42 +d7)"

2y 2
{a2+b2 +02] (b2 +c2+d ]a{ab+bc+cd}

P.T.O.
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13. ﬁ"'&'(-l.fﬂﬁ?@ax-4y-10=owa@rnﬁaﬁ%mh§%ﬁ%ﬂmaﬁamfﬁfl; ;

. . . i -1, 3) o
Find the coordinates of the foot of the perpendicular from the point ( b
the line 3x -4y - 10 = 0.

HYAl
OR

T &g @ T T gt P g o A & Fris AR (=5, O AT (=4, 0)
gh

Find the equation of the ellipse whose vertices are (+5, 0) and foci at (=4, 0)
respectively.
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